EARAROBEEIERT — 2 N— IBISH —F

2018%3H250 (H) 2EIBR##H2H

LN V2% 3% 5007AT (R&) B

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[AE4£] 1% :7,200,000 @ ~ 23 :2,900,000H ~ 33&:

1,800,000 H . 4 & :1,100,000 H 5 & :720,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S S 4 3 | BERE 1:25.7 2-2 37.7| 93.2 | 10 | 492 |RHERT (ER)
117110 A a3TEAY 56.0 ! ) AT
LTANWNTTFY— Bik—<>T)y T =te
— = # 3 | EPR 1:25.7 3-3 37.5]93.2 | 1 462 | BAME (ER)
21812 X=T4—HhF— 56.0 (4 €) (-6) |BERT
L:7n7% B:7RIA4YIN-K EEEpNES e
5 2 43 | EAEN 1:26.1 5-4 37.7| 89.6 | 4 44 | BB (ER)
3l7l11|ZA/ 7L 56.0 2 1/2) © |/KEE
L:ANRZXTNGT B:2H/ T4 T7—X BREH#E S/ 77— L4
> = 4 3 | FlBEX 1:26.2 11-10 |37.2| 88.8 | 5 468 | EEFE (RR)
4 4| TT7IVT 4/ — b 56.0 (1/2) (+4) B *r0y k774
RANKRTNG B IUTLTY—X J—H Ty — L
< e N D. NVTa1— :26. — . . A+ERBSE (ER)
5 gl VLR LYY 3 D Ta 1 (216)4 5-4 38.0| 8.9 | 7 (4_826) ’ﬁ*%
LiNnZ—ka21—X B:NEXLTI> HEhis
e 3 | itiAER— :26.4 9-7 37.8( 8.9 | 2 460 | AAMREES (RR)
6 9| NIYUZT i 54.0 (NF) 8 |3 |~")lz§74‘/
L:N— KRS B:T7—2RVLY g—L— - JvIN> - T7—LERE
o3 | EIlEF 1:26.6 7-7 38.2]8.2| 3 472 | BIEEE (BH)
71517/ /—9z41 56.0 m o) | BNl
RNZ—kb21—-X B:ANTI1421-X ke
. o IMBiED : - LS (ER)
slglisl "7 —va [B] 4 3 s 1(52/%7 7-7 38.1| 84.3 | 12 tg)e 5\32};;‘-5
:707% B:IXMINTY-> LA Eae ]
= # 3 | BEAS 1:27.0 13-12 [37.8| 81.5 | 8 478 | UKW= (F}R)
o 2|71 TLT AN 6.0 (1 3/8) o | TEER
R:Za—A2952F BFAILY—X> AE7 1 I LS
= 43 | AKX 1:27.3 3-4 39.2|79.2 | 6 504 | /NEE (ER)
1ol 5| 7Y ATRA7/—H 56.0 (1 3/8) 0 | TESR=A-AF T2 W)
RV RKYZYRIR B:T7UF—> K& REB
Ry g t 3 | BHF 1:27.6 10-10 | 38.9| 76.4 | 11 462 | ALHEA (RR)
11 3 Qs d—=JLR % 56.0 (1 3/4) © () 9IZXRFELZ
LHYIRT1 I B:IT77—ZXRI147 EE ES
. +2 FREFE :27. = . . #HT (FR)
w1l lavze7on >3 Sl 1 (227) 9 12-12 | 38.8| 74.2 | 13 zgg) g;ﬁ&%
L:TUHYSL IR B:h/ Y hyTLTFa RS
- . 3 | EEER 1:28.9 1-1 4111681 9 500 | FHEE (RR)
13|56 VI eI % A53 0 ® o) et
L:ZFA4T—IK B:XyParO0—X TANAS
@ 71 L
) 50.7-37.9
NA> 24 L | 12.2-10.8-12.0-12.8-12.7-12.2-13.0
@ 1—F—@&BIEf
13=7r=
23—7F—
Gal=7r= 6,10(5,12) (8,11) (7,13)9,3,4,1,2
43— — (x6,10)12(5,8,11) (7,9,13) (3,4) (1,2)
[ RN
B OB 10 3,960 714K 10-12 2,270H e & 7-8 940M 3EE | 10-11-12 12,380MH
% B 10 870M 10-11 2,840M | | B E 10-12 7,190 | | 3EEE | 10-12-11 124,820M
12 160/ 11-12 540M B H 10-12 19,810
1 190M9

ABICOVWTRDTEEERROODE. TR LIV,




